Example:
[bookmark: _GoBack]Calculate water influx at the end of 1, 2, and 5 years into a circular reservoir with an aquifer of infinite extent. The initial and current reservoir pressures are 2500 and 2490 psi, respectively. The reservoir-aquifer system has the following properties.
[image: ]
Solution 
Step 1. Calculate the total compressibility coefficient ct: 𝑐𝑡=0.7(10−6)+0.3(10−6)=1×10−6 𝑝𝑠𝑖−1 
Step 2. Determine the water influx constant from Equation 4.24: 𝐵=1.119(0.2)(1×10−6)(2000)2(25)(360⁄360)=22.4
Step 3. Calculate the corresponding dimensionless time after 1, 2, and 5 years: 𝑡𝐷=6.328×10−3(100𝑡/(0.2)(0.8)(1×10−6)(2000)2)
 𝑡𝐷=0.9888𝑡
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Step 4. Using Table 4.2, determine the dimensionless water influx WeD:
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Step 5. Calculate the cumulative water influx by applying Equation 4.21:
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التعليق
Example 4.6 shows that, for a given pressure drop, doubling the time interval will not double the water influx. This example also illustrates how to calculate water influx as a result of a single pressure drop.
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